[ ]
o XAY - AY
XIE7t A0l MY
o HiC| X1 22} 7=
o HiE mEH=}
72
\ \ \
o os 25
AlHS
EE FHHE X AERT
0 Hs UE ?45X3 @ 8x4
w == 04566 | 088
@6x4 | 210%5
gex8 | @10x10
(o)
AR
W mm pa5 | 26 | @8 | @10
Al S5/HE Y=
AIZFA| F2% 42|
BZ W MPa -
Z|TAE S MPa 06
EDSINEEE MPa 0.2
F2EFAERARE | T 0~60 F)
) A=
AEZ3 Z0|9| 518Xt | mm 0 ~+10
A2 IAE & mm/s 50 ~ 750

F) 5ColsollM Aksh= ER, Ealiolo] SZE 227t UBLICE oflo] E210|0IE S8t 371 ARZSIAIZ| HIZILICE

b

AEZS

S
(mm)

45

6

©

10

406



MKY/TKY

(o] =3
CIE YE
=o
%) SHI2 EfR TE 24
FQ BE
No. 23 T No. e WES
1 =X U0l x| T -
d U205 7 @ 1% g .
2 IAE ARl AZ HiE mfE g
3 2E 71 g5 8 ORing H-NBR
4 Ang ARR{AZ 9 ORing H-NBR
5 ORng HNBR F1) RE LHZ @602 L] YIiZ At
6 @) ORing H-NBR ZF2) MKY:= HEIX| m|g) FE TKY= Hi= T/ F&t
a o|L|ymz H-NBR

407




MKY/TKY

2|§i|_¢_5 B2 mm
B DERE / TS oS
TKY-O
\%
6U
264
ela g —
| [P — T
M= g
o T L
\?/
M T S R
G
P
F
SAlHS A B |C| D E|F |G H J K LM NP R|S|T|U/|V |zeExn=
TKY—-0-45X3 [216 |55 |6 |25 |76 |11 | 6 | M2X04 20|35 |27 |26| 3 |7 |8 (18|10 5|3 |3 |5 |M25
TKY-0—-45X6 |216 |55 |6 |25 |76 |11 | 6 | M2X04 70|35 |27 |26| 3 |7 |8 |24|16|/5 |3 |3 |5 |M25
TKY-0-6X4 [24165|7 | 3 |76 |13 7 |[M25X045%0/4/32 (34388 |9 |22|14/5|3 |3 |6 |M25
TKY-0-6X8 [241(65|7 | 3 |76|13|7 |[M25X045%0/4|32|34(38|8 |9 (31/23/5|3|3 |6 |M25
TKY-0-8 X 4 %893 |16 |16[10| M3X05Z0|5 |32 |45 |55 |12 1423|146 |3 |5 |7 M5
TKY-0-8 X 8 % | 8|93 |16 |16[10| M3X05%0|5 |32 |45|55 (121431226 |3 |5 |7 M5
TKY-0-10X5 | 37 | 9 |9 | 3 |16 |18 12| M3X05%0|5 |32 | 5 6 (1416|2818 |7 | 3 |5 |8 M5
TKY-0-10X10| 37 | 9 | 9 | 3 |16 |18|12| M3X05%0|5 |32 | 5 6 |14/16(39|29|7 | 3|5 |8 M5
HE DSl 2
w \Y
TKY-W
®U
|
| 204 ‘ Fﬁ?
a ‘ | — 0 B ‘777
< @@ _ T j
o
3 I - Zl s e —— -
AlegEd {4E
N I
Nu
G T|S R
P
SAlHS A|B|C|D|E|F|G H JIK|[LIM|N|P[R|[S|T|U|[V|W/|Z=zExi=
TKY-W—-45X3(216[55| 6 [25|76| 11| 6 | M2X04Z0|35 |27|26| 3 | 7 |8 |20(146|/24| 3|3 | 5| 6 | M25
TKY-W-45X6 [216/55| 6 |25[76| 11| 6 | M2X04 70|35 |27|26| 3 | 7|8 |20(146|24| 3 |3 |5 | 6 | M25
TKY-W—6 X4 (24165 7 | 3 |76 13| 7 |M25X0.45 20|4(32(34|38| 8|9 (23|17|3 |3 |3|6]|8]| M25
TKY-W-6 X8 (241|165 7 | 3 |76| 13| 7 [M25X04571014|32(34|38| 8|9 (27213 |3 |3]|6]|12| M25
TKY-W-8X4 | 36| 8| 9| 3 |16[16| 10| M3X05Z0|5 |32|45(55(12|14(28(21|4 |3 |5| 7|9 M5
TKY-W-8X8 | 36| 8| 9| 3 |16[16| 10| M3X05%0|5 |32|45(55[12(14(30|23|4 |3 |5 |7 |11 M5
TKY-W-10X5 [ 37| 9 | 9| 3 [ 16| 18| 12| M3X05%0|5 (32| 5|6 |14|16(29|22|4 |3 |5 |8 |9 M5
TKY-W-10X10{ 37| 9 | 9 | 3 |16 | 18| 12| M3X05%0|5 [32| 5| 6 [14|16|33|26| 4 |3 | 5| 8|13 M5
409






